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Answer: B 

QUESTION: 46 

Why does the X-Force research team analyze every security vulnerability? 


A. To prove it has the best global Research & Development Security organization. 
B. To monitor the threat landscape, determining new attack vectors, and offering 
a higher level of protection 
C. To continue to enable IBM's threat mitigation products to meet the 
requirements laid down in ISO/IEC 15408. 
D. To provide a subscription service to keep clients abreast of new threats. 

Answer: B 

QUESTION: 47 

Virtual Server Protection for VMware covers which virtualized platforms?
 

A. VMware vSphere 4 
B. All VMware platforms 
C. All VMware platforms plus AIX WPARs 
D. All VMware platforms, AIX WPARs and Solaris containers 

Answer: A 

QUESTION: 48 

TFIM Business Gateway addresses which buying inhibitors for the SMB market?
 

A. Affordability and complexity. 
B. Upgradability and included services. 
C. inclusion of SSO, access control and compliance all in one package 
D. Upgradability and complexity. 

Answer: C 

QUESTION: 49 
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How does Tivoli Directory Server (TDS) help increase the number of Tivoli 
security wins, over time? 

A. TDS is included in the packages for many Tivoli security solutions (TAMeb, 
TIM, TSIEM) and it enhances the package by offering a high performing, high 
availability user repository. 
B. TDS customers get a discount for other Tivoli security products 
C. Tivoli Directory Server is becoming ubiquitous (ever-present) and since Tivoli 
security products integrate with it, adding Tivoli security products to an 
operational environment becomes a much easier proposition. 
D. TDS includes "try and buy" versions of the Tivoli security products 

Answer: C 

QUESTION: 50 
A client currently has IBM RealSecure Server Sensor protecting its Windows 
servers. What is the best product to which the client should migrate? 

A. IBM Security ESC 
B. IBM Security Server Protection 
C. IBM Security VX 
D. IBM Security Network IPS 

Answer: B 

QUESTION: 51 
Which 4 customer IT security challenges are targeted by the Tivoli Security 
solutions? 

A. Physical security, application security, network security, meta-security.  
B. Organizational, process, mindshare and service-delivery challenges. 
C. Lower security costs, prove you know whose accessing what, managing the 
insider threat, and getting out ahead of security threats in general. 
D. Challenges related to healthcare, finance, insurance and government 

Answer: A 
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